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No.1 TE RS
T & gl H A Y ¥ B HAfr
+T HELGIET ¢ =5em 3. 95+2. 05 =6. 0 6 [ m
HEEYIKT t=10cm =17.82 18 m
ISR t=ben =150. 8 151 | nf
SHIERRIE t=10cm =52.7 53 | nf
BEMIEME AsBE L=2.9km (150. 8+%0. 05) +(52. 7*0. 1) =12.81 13| m
av s ) — hREEL 1.4+7.7 =9.1 9.1 | ot
ColuEL M5
BERTEMR (C o HR - HEfR) 1.4+7.7 =9. 1 9.1 | ot
L=2.9km
ay 7Y — hEEEL 0. 18+0. 02+2. 71 =2.91 2.9 | o
TR
BEMIENE (C o Bl - kLS 0. 18+0. 02+2. 71 =2.91 2.9 | o
L=2.9km
HAE (FFIHD =2 2| K
Wk - BIGN—RERE — B RX
H— K317 (GBI ik =3 3 m
STAERIRR 3 m
Bt 1 =157. 1 150 | md
B R =62. 0 62 | m
A E 2. 0km =88. 2 88 | m
PR TR E S~ (TR
7% 5 A K =88. 2 88 | m
FEH T IE =47.1 A7 | ot
Loy Ee FEM s 12.81%2. 3/1. 8 =16. 37 16.4 | nof
A s B
BEM ALER 9.1%2.35/1.8 =11.88 1.9 | m
C o3l (JEf7)
BEM ALER 2.91%2.5/1.8 =4. 04 4.0 | m
C o (Wi
BB BEERINSG Y 12. 9kg |12, 9%3 =38.7 38.7 | kg
=7 (RRTERA AT
K& L BEHE =1.50 1.5 | m
¢ 300
MHEEVY t=3em 0. 07%0. 1%1. 5 =0. 01 0.01 | m
£#0.07m/10m4
ARG t=15em 4. 4%0. 1%1. 5 =0. 66 0.66 | mt
RC-40 £E4.4m/10m Y
EARYPY 7N =2.00 2.0 | m
PB-B300 X H300
MHEEVY t=3cm 0. 09%0. 12 =0. 02 0.02 | m
£#0.09m/10m 4
ARG t=15em 6. 4%0. 1%2 =1.28 1.28 | ni
RC-40 £56.4m/10m 4
A )-) t=10cm 0. 54%0. 1%2 =0. 11 0.11 | m
18-8-25BB 230, 54m/10m 4
LR )~ R 2. 0%0. 1%2. 0 =0. 4 0.4 | nf
A 1 =il 1| f&
I EHEAK 1 1 =i 1| %
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No.2 DE LY ¢
T f# S H #F B K B & BT
KRBT, KM G-B500-L500-H1200 1 =1 1 | &
18-8-25BB
PEVIE B EELY =0. 54 0.54 | m
18-8-25BB
AL B EELY =6.9 6.9 | m
WILFEWEAT t=15em HREFELY =0. 8 0.8 | m
RC-40
JL—F U T-25 HEEHE LY =il 1| #
500%500
Kk #t2% 6-B500-L500-H850 1 =1 1 | &t
18-8-25BB
PEVIE HEHEELY =0. 41 0.41 | m
18-8-25BB
AL B EELY =4.9 49 | m
MILREWEAT t=15em HRFFELY =0. 8 0.8 | m
RC-40
JL—F L r%E T-25 HEHE LY =il 1| #
500%500
B MR T |3 L) -} =0. 25 0.3 | m
18-8-25BB
TRl 0.1%7.5 =0. 75 1.0 | ot
i EiFasyy-h
FAA DO LEANE =17.0 17 m
Mays)-h 2. 04%0. 1%17 =3. 47 3.5 | nt
18-8-25BB
H—RKL— =22.0 22 m
Gr-C-2B
DRI T AT AR =35.9 36
W=45cm IR m
KHPFR T DR - BRI W=15em [18+32. 1 =50. 1 50
IMEK A A > b m
XE#HT Y75 =16. 41 16
W=30cm VA m
REH L ik =5.7 6
W=30cm VA m
PiERET AR IR — 007 L% A LR =22.0 22 | m
H=1250
S AR REHIERE— (AT 7 L % v A | LR =4.0 4 m
H=1500
S AR REHIERE— (AT 7 L% v R | LR =4.0 4 m
H=1750
¥ Lavs)-b  t=10cm 3. 19+0. 62+0. 64 =4. 45 45| m
18-8-40BB
MOHLREA t=15cm 31. 9+6. 2+6. 4 =44.5 44.5 | m
RC-40
WAk — b =21.0 21 [ nof
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No.3 TBCATRE
T ff S H #F B K B &

EHEEN T AR T BEFHEHELY =219.7 220
BTy =7/40mmEL T t=15cm (M]3E )
T AR T BEFEELD =51.3 51
BTy -7/40mmEL T t=25cm (EE )
e AR T BEFEELD =220. 0 220
BIFAfE M-25  t =10cm (BTTE )
L AR T BEFEELD =51.3 51
BigAA M-40  t =15cm ([EEHE)
g T R ELY =51.3 51
HURLEET 227 (20)  t =5cm ([EEH)
#E T BEFEELD =220. 1 220
FEBRIEAs20F  t =4cm (HTEEL)
FE T BEFEELD =51.3 51
FEBRIEAs20F  t =5cm ([EEEL)

FEPAA T [EPRET GERD) =0. 86 0.9
SN TE Y
FPEAET (4 =4. 19 4.2
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L=3.3km F¥=487F 0.039t
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T 4, YR R T 5 ¥ Xy B -
T % X 4 EREE
T X Gy A - Fl1] - 51 Hi ¥ BOAr B (AR wm(AE)  HeEiEi W &
EKAT = 1
+T = 1
PEH T = 1
FEH! m3 157 157. 1
HWET = 1
MR m3 62 62.0
AL T 52 1
5 - ALBd m3 88 88.2
BT = 1
FemEE m2 47 47.1
EiAE T =X 1
EdE T =X 1
AR T A 22 L 20F
g 1T t=4cm, (HTTEER) m2 220 220. 1
AR T A 22 L 20F
g T t=bcm, ([EEER) m2 51 51.3
HURIEE 7 & 222 (20)
g T t=bcm, ([EEHD) m2 51 51.3




T % ¥ =

Rk AR T TEFEHTRE - R
TH% R
T H X 4y A« AR - 51 H S HOAL e (el A [R) S
Rt (M-25)
e e T t=10cm, (MT7EHE) m2 220 220. 0
Rt (M-40)
e e T t=15cm, ([EEHR) m2 51 51.3
BE)79vy=77/40mmPL T
T A T t=15cm, (MTIEHE) m2 220 219.7
BE)79vy=77/40mmPL T
T A T t=25cm, ([EEHE) m2 51 51.3
T8 AT it % B2V 1
& ka2 ) — Kk m3 0.30 0.25
LA LA m 17 17.0
H— KL — Gr-C-2B m 22 22.0
X[ T 2V 1
83581 (W=0. 45m) A3 72 5,
KEWT A E 1 PT m 35.9 35.9
6,520 (w=0. 15m) F0E -
PSR AT R m 72.3 72.3
BiERE T = 1
BiERE T = 1
HL ] FH 75 A LA — (AR
7 L% ¥ A NLENERE H=1250 m 22 22.0
HL ] FH 77 A LA — (AR
7 L% % A NLENERE H=1500 m 4 4.0




T & %X

TEA AR EEYin T X Sy EEHTE - s
T HF X5 EEGE
T EHR X Sy« 1A - F 1) - Al 51 i i BOAL BeE i) B (4R TR fE C:
B it P 5 R e — A Y
7 L% ¥ A MLEBERE H=1750 m 4 4.0
JEAK S — b m2 21 21.0
K L = 1
KK L = 1
HfHE ¢ 300 m 1.5 1.50
Y9/ 7 PB-B300 X H300 m 2.0 2. 00
e O & AT 1 1
HimPEAK N 11 7Y I 1 1
KBt T Y 1
AE K k1R G-B500-1.500-H1200 I 1 1
B K k2R G-B500-L500-H700 I 1 1
SRS T X 1
S EL D B L T X 1
B2 R B T m 24 23.8
T AT 7 Mtk
B RS t=5cm m2 151 150. 8




T & %X

T % 4 YR R T 5 ¥ Xy B -
T % X 4 EREE
TR X Gy e AR - FR R - A5 H ¥ HBohr HEGIE)  HEGE) HEHEE W =
T AT 7 b ik
LESIRER t=10cm m2 53 52.7
) - MARBE R [E]3E 181, W=300, H=1700 m3 1.4 1.38
) ) - MARBE R LB 1R, W=300, H=850 m3 7.7 7.65
BEARE SRS T FaV 1
BF300# m3 0.2 0.18
VU ¢ 10042 m3 0. 00 0. 002
M O = m3 0. 02 0. 022
A m3 2.7 2.71
T AT B a2 1 F2 1
LR - Bk & I 2 2
HRYE B 1A
=N N A7) fE m 3.0 3. 00
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H & fir | % & 1 gL
N X 1
A m3 157 157. 1
H m3 62 62. 0
157.1-(62.0/0.9) =
G5y U m3 88 88. 2
FEEE IR m2 47 47.1
HEET X 1
BRI 7 A =1 L 20F LIPTER
BT t=4cm m2 220 220. 1
BRI 7 A =1 L 20F ESBIERE
=BT t=5cm m2 51 51.3
FBLEE 7 2 212 (20) ESPIERA
T t=5cm m2 51 51.3
st (M-25) LIPTER
e AR T t=10cm m2 220 220.0
et (M-40) ESBIERE
BT t=15cm m2 51 51.3
FEAIT9Y4=5740mmEL T Y BTERS
T A t=15cm m2 220 219.7
FAE)79Y4-7/40mEL T ESBIERE
T R t=25cm m2 51 51.3




oA hEFEE PAGE1-1
2 I Vi £} Mg Wrom AR | WA = | =
P12.50 0. 00 .5 |1 —— |
P12.50+0. b8 0. 58 1.5 1.50 0.9
P12.50+0. b8 0. 00 5.0 3. 25 0.0
P12.50+0. 91 0. 33 5.0 5. 00 1.7
P12.50+0. 91 0. 00 4.1 4.55 0.0
P20. 00 6. 59 4.1 4.10 27.0
P30. 00 10. 00 3.8 3. 95 39.5
P40. 00 10. 00 4.0 3. 90 39.0
P40. 00+3. 15 3.15 4.0 4. 00 12.6
P40. 00+3. 15 0. 00 1.1 2. 55 0.0
P45. 00 1.85 1.1 1. 10 2.0
P45. 00+2. 00 2. 00 1.1 1. 10 2.2
= H 124.9  |m3




R +HERHEE PAGE1-1
il AR BE W o A | FEWrmmiE &= C2
P12. 50 0. 00 0.0 | o |
P12. 50+0. 58 0. 58 0. 0. 00 0.0
P12. 50+0. 58 0. 00 9. 1.05 0.0
P12. 50+0. 91 0. 33 9. 2.10 0.7
P12. 50+0. 91 0. 00 9. 2.15 0.0
P20. 00 6. 59 9. 2.0 14. 5
P30. 00 10. 00 1. 2.00 20. 0
P40. 00 10. 00 1. 1.85 18. 5
P40. 00+3. 15 3.15 1. 1.90 6.0
P40. 00+3. 15 0. 00 0. 0.95 0.0
P45. 00 1.85 0. 0. 00 0.0
P45. 00+2. 00 2.00 0. 0. 00 0.0
& 2 59.7 m3




+T HEHEE B 3-1
v p 7 A B 7| & iy
+T
PEH
BRREH AR E LY
V= 124. 90 = 124.90
P7. 50~P12. 50 & &l %% i Fi— (SR /Kt 1R + 5 A& iR 1D
V= (52.68-(1.38+1.71+0. 64)m2)) X0.50 = 24. 48
A K k1R
(ElEa)
V=1.71m2 X 0. 58 = 0. 99
(T3 {A))
V= 0. 64m2 X 0. 57 = 0. 36
BrE
(ElEa)
V= 1. 60m2 X 0. 35 = 0. 56
(T3 {A))
V= 0. 89m2 X 0. 59 = 0.53
(P12. 50+0. 58~P12. 50+0. 91 /jp&)
V= 0. 47m2 X 0. 10 = 0. 05
INDYYY L2
V=0.97m2 X 1. 65 = 1.61
oK k2R
V=1.15m2 X 1. 15 = 1.32
P45. 00
V= 0. 59m2 X 2. 05 = 1.21
V=6.90m2 X 0. 16 = 1. 10
SV = 157.11| m3 157. 1




T HEREE 1234 9 3-2
4 R 7 1 VA~ &
MR
MAREIRE LY
V= 59. 70 = 59.70
oK1
V= 0. 32m2 X 1. 00 = 0. 32
V= 0. 04m2 X 0. 85 = 0.03
BftE
V=0.67m2 X 1. 48 = 0.70
V= 0. 03m2 X 0. 85 = 0.03
K I ABN =]
V= 0. 33m2 X 2. 00 = 0. 66
V= 0. 13m2 X 1. 65 = 0.21
oK k2
V= 0. 03m2 X 0. 80 = 0. 02
V= 0. 89m2 X 0. 05 = 0. 04
V= 1. 02m2 X 0. 30 = 0. 31
TV = 62.02[ m3 62.0




+T HEHEE 1% 0 3-3

% PR 7 B Hofr| %% 5o
F AL
V= 134. 7-(62.0/0.9) = 88.21| m3 88. 2
A
SRR 1Y
A=0.81 = 0. 81
BE
A= 0.44X1.50 = 0. 66
By I AN —h
A= 0.54X2.00 = 1.08
HU R B — A 7 L & X B LY
A= 31.90+6. 20+6. 40 = 44.50
SA = 47.05| m2 47.1




FET mEHEE PAGE1-1
O 1 e I S i W w
iR
P12.50+0. 91 0. 00 6.33 | ——™— | — (t=4cm)
P20. 00 6. 59 6. 38 6. 36 41.9
P30. 00 10. 00 6. 48 6. 43 64. 3
P40. 00 10. 00 6. 49 6. 49 64.9
P40. 00+3. 15 3. 156 6. 48 6. 49 20. 4
P40. 00+3. 15 0. 00 5.96 6. 22 0.0
P40. 00+3. 95 0. 80 5.96 5.96 4.8
P40. 00+3. 95 0.00 6. 76 6. 36 0.0
P40. 00+4. 52 0.57 6. 76 6. 76 3.9
P40. 00+4. 52 0. 00 8. 76 7.76 0.0
P45. 00 0. 48 8.76 8.76 4.2
P45. 00+1. 58 1. 58 8.76 8.76 13.8
P45. 00+1. 58 0.00 4. 88 6. 82 0.0
P45. 00+2. 00 0.42 3. 96 4. 42 1.9
= 2 220. 10 m2




FERET miEsEE PAGE1-1
O 1 e I S i W w
T 38
P12.50+0. 91 0. 00 6.33 | ——™— | @-— (t=10cm)
P20. 00 6. 59 6. 38 6. 36 41.9
P30. 00 10. 00 6. 48 6. 43 64.3
P40. 00 10. 00 6. 48 6. 48 64. 8
P40. 00+3. 15 3. 156 6. 47 6. 48 20. 4
P40. 00+3. 15 0. 00 5.96 6. 22 0.0
P40. 00+3. 95 0. 80 5.96 5.96 4.8
P40. 00+3. 95 0.00 6. 76 6. 36 0.0
P40. 00+4. 52 0.57 6. 76 6. 76 3.9
P40. 00+4. 52 0. 00 8.76 7.76 0.0
P45. 00 0. 48 8.76 8.76 4.2
P45. 00+1. 58 1. 58 8.76 8.76 13.8
P45. 00+1. 58 0. 00 4. 88 6. 82 0.0
P45. 00+2. 00 0.42 3.96 4.42 1.9
& 2 220. 00 m2




FREET RS PAGEL-1
3/ SN 1521 e g R T FE i B
LIRS
P12.50+0. 91 0. 00 6.32 | - | @ (t=15cm)
P20. 00 6. 59 6. 37 6. 35 41.8
P30. 00 10. 00 6. 47 6.42 64. 2
P40. 00 10. 00 6. 47 6. 47 64.7
P40. 00+3. 15 3.15 6. 47 6. 47 20.4
P40. 00+3. 15 0.00 5.96 6. 22 0.0
P40. 00+3. 95 0. 80 5.96 5.96 4.8
P40. 00+3. 95 0.00 6. 76 6. 36 0.0
P40. 00+4. 52 0. 57 6. 76 6.76 3.9
P40. 00+4. 52 0.00 8.76 7.76 0.0
P45. 00 0.48 8.76 8.76 4.2
P45. 00+1. 58 1. 58 8.76 8.76 13.8
P45. 00+1. 58 0.00 4. 88 6. 82 0.0
P45. 00+2. 00 0.42 3. 96 4.42 1.9
= i 219.70 m2




HIE T HEEIAEE 12034 9 2-1
4 P B B H 7| & =
LT
FKJE L
HTE B, FRAR R T A =2 L 20F, t=4cm
PG R E LY
A= 220. 10 = 220.10| m2 220. 1
[EE, A AR 7 A = L 20F, t=5cm
JEBAR L Y
A= 52. 68 = 52.68
S THERR (P12, 50BER% Mt 1)
-A=-1.38 = -1.38
A =  51.30] m2 51.3
HRET
[EE R, MUK 7 % =12 (20), t=5cm
JEBAR L Y
A= 52. 68 = 52.68
S THERR (P12, 50BER Mt 1)
-A=-1.38 = -1.38
YA =  51.30] m2 51.3




THEET HEEEE 12049 2-2
4 P B B H 7| & =
e A T
WY& 5B, Biaifa (M-25) , t=10cm
BIHGEHRE LY
A= 220. 00 = 220.00| m2 220. 0
ELES, biFifa (M-40) |, t=15cm
JEBAR L Y
A= 52. 68 = 52.68
SR THERR (P12, 50BER Mt 1)
-A=-1.38 = -1.38
YA =  51.30| m2 51.3
TERET
TR, FFA277yv4—77/40mmLL T, t=15cm
PG R E LY
A= 219.70 = 219.70| m2 219.7
FELEHS, 4 7yv4—-7740mmLL T, t=25cm
JEBAR L Y
A= 52. 68 = 52.68
S THERR (P12, 50BER M 1)
-A=-1.38 = -1.38
YA =  51.30| m2 51.3




HA R L BER 124 v (1-1)
4 i) H ¥ Hoofr | B & 1 22
= By )-p m3 0. 30 0.25
LA LT .=600mm m 17 17.0
H— KL — Gr-C-2B m 29 22.0
EFEEST
, (W=0. 45m) A2 7% 4.
EXE REWTHE 1T m 35.9 35.9
EREREe
(w=0. 15m) H.0»
m 72.3 72.3

M« AU




EEA B T R EE 14 9 2-1

ga P at B oAl %% s

i B as)-b (P, 12. 50~P. 20. 00)

V= 0.033m2 X7.50 = 0.25 m3 0. 25




BB T BEEE 140 2-2
4 G 3t ) HOfr| 58
@ sz T
FEELAMANE (1Y T
L= 7.5+9.5 = 17.0] m 17
***** 10m¥%Yy——
AEEE R 1y) 1L=600mm
N = 16.50| f# 16. 50
av)) -} (18-8-25BB)
V= 0. 204 X 10. 00 = 2.04| m3 2. 04
T
A= (0. 168+0. 088+0. 05) X 10.00 = 3.1 m2 3.1
THEET VA
V=0.01X0. 23X10. 00 = 0.02| m3 0. 02
FEHEM 1 =100
A= 0. 88%10. 00 = 8.8 m2 8.8
J— KL —/ Gr-C-2B = 22.0] m 22
BN
1A FERR (W=0. 45m) 2275 i BT A 1f4
L1= 2. T0XT7A 18.9
L2= 10.3+6. 7 (W=0. 15m) 17. 00
SL = 35.9 35. 90
6 SR (w=0. 16m) H0#R - BRARIH R
L1= 18.00 18. 00
L2= 16.9+10.3+1. 7+3.2 32. 10
£ 7 ZW=0. 30
3= 0.86+1.25+1. 76+2, 26+2, 77+2. 93+2, 72+1. 86 16. 41
{5 11 #4RW=0. 30m
L4= 3.25+2.50 5.75
SL = 72.3 72. 26
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1040 (1-1)

4 R HH | & = (] G2
FE] FH B M A
— KB %y A b
LG e H=1250 m 22 22.0
H=1500 m 4 4.0
H=1750 m 4 4.0
WK — b [.=0.70m m2 21 21.0




PERE T AEEEE 1040 3-1
4 P at H 7| & &
ELfl FH 5 A SR — (T 7 L % v X LAY fERE
H=1250
L=2.0mXx 11} 22.00] m 22.0
————— e —
B 11| 3 11
22.00| m 22.0
¥jLav)y)-h
V= 1. 45X 0. 10 X 22. 00 3.19| m3 3.19
%)L ay)) -
A= 0. 10X 2% 22. 00 4. 40 m2 4.4
EVI
V= 1. 45X 0. 02X 22. 00 0.64| m3 0. 64
FERSRT RC-40, t=15cm
A= 1. 45X 22. 00 31.90| m2 31.9
S E
A= 1. 45X 22. 00 31.90| m2 31.9




AtEE 1024 0 3-2
3t B AL &
HL FH B R B — (AT 7 L % ¢ R N LA BERE
H=1500
L= 2. Om X 24 4.00] m 4.0
————— R —
5 2| % 2
4.00] m 4.0
¥Lasyy)-k
V=1.55X0. 10X 4. 00 0.62| m3 0. 62
¥ Lay)) -
A= 0.10X2X4.00 0.8] m2 0.8
HEVAY
V= 1.55X0. 02X 4. 00 0.12[ m3 0.12
FEWERET RC-40, t=15cm
A= 1.55X4. 00 6.20[ m2 6.2
FE IR
A= 1.55X4. 00 6.20[ m2 6.2




PERE T AEEEE 104 Y 3-3
4 7N it HOfr| 2 =
B ARG R SEE— AT 7 L & v X S LAUBERE
H=1750
L= 2. 0mX 24k 4.00] m 4.0
————— e —
B 2| % 2
4.00] m 4.0
¥jLav)y)-h
V= 1.60X0. 10X 4. 00 0.64| m3 0. 64
%)L ay)) -
A= 0. 10X 2X4. 00 0.8 m2 0.8
EVI
V=1.60X0.02X4. 00 0.13] m3 0.13
FEWEREfT RC-40, t=15cm
A=1.60X4. 00 6.40( m2 6. 4
Fem e
A=1.60X4. 00 6.40( m2 6. 4




PERE T HEFEE 140 3-3
4 iy & A HOfr| &=
JEAK T — b
L=0. 70m
A= 0.70X30.06 21. 0| m2 21.0




KT ek 12249 (1-1)

% i Bl 1% B | & = fif £
B ¢ 300 m 1.5 1. 50
Ky 2n” =} PB-B300 X H300 m 2.0 2.00
i (& FIT 1 1

H gk A o7y 5 1 1




KT HEHEE 12040 3-1
4 P 7 0 H 7| & &
BE ¢ 300
L=1.50 1.50] m 1.5
————— 1YY ——-
B 10.00] m 10. 0
EVI
V= 0. 24 X0. 03X 10. 00 0.07[ m3 0.07
FERSRT RC-40, t=15cm
A= 0. 44X 10. 00 4.40[ m2 4. 40
S E
A= 0. 44X 10. 00 4.40[ m2 4. 40




KEET HEiHEE 12040 3-2
4 g Gl B B AL &=
K I AR =k PB-B300 X H300
L=2.00 2.00] m 2.0
————— 10m¥4 Y ——
LT 10.00| m 10.0
HEvy
V= 0. 44 X0.02X%10. 00 0.09| m3 0. 09
Feffav))-b  18-8-25BB
V=0.54x0.10x%10. 00 0.54| m3 0. 54
T
A= 0. 10X 2% 10. 00 2.00| m2 2. 00
FEWERET RC-40, t=15cm
A= 0.64%10. 00 6.40| m2 6. 40
FE IR
A= 0. 64%10. 00 6.40| m2 6. 40
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4 G 7 B {1 &
MmO

N=1 1| &ar 1
kK O 117, &7 B H44ke

N=1 1| = 1
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B 1%

14 %

oK1 2

G-B500-L500-H1200

oK

G-B500-L.500-H850




| B =X =
kBT KM T1 (6G-B500-L500-H1200) G-B500-L500-H1200
G-B500- n = 18T n= 1f&FT
L500-H1200
——— 1f8gr4yn ——— 14 Y —-
- 27 U — b (18-8-25BB)
v1=0.80%0.80%X1.35 X1 = 0.86
—v2=0.50%0.50X1.20 X1 = -0.30
—v3=0.30x0.30X0.15 X1 (BEa%/K#300%) = -0.01
—v4=0.07Tm2X0.15 X1 (VSHENHE ¢ 300) = -0.01
a7 )—hr
YV = 0.54m3 V=054 m3
TR e
al1=0.80x1.35X2 X1 = 2.2
a2=0.80X1.35X2 X1 = 2.2
a3=0.50x1.35X2 X1 = 1.4
a4=0.50x1.35X2 X1 = 1.4
—a5=0.30X%0.30x2 X1 (BERR/KK300%) =-0.2
—a6=0.0Tm2x2 X1 (VSEFE ¢ 300) =-0.1
TR e
YA =6.9 m2 A=6.9 m2
< JTV=Fv) #T-25 (500 X 500 ) I V=Fr)T #ET-25
n=1#% n=14¢
- ZEfEAL (RC-40, t=15cm) SLHERS
A=0.90X0.90 X1 = 0.8 m2 A=0. 8 m2
- B IE FLi e
A=0.90X0.90 X1 = 0.8 m2 A=0. 8 m2




[ ]I B X =
ok T2 H#EKHE T2 (6G-B500-L500-H850) 6-B500-L500-H850
G-B500- n = 18T n= 1f&FT
L500-H850
———  1fEFT4Y —— 14 Y —-
« 7 J— b (18-8-25BB)
v 1=0.80%0.80X1.00 X1 = 0.64
—v2=0.50%0.50%0.85 X1 = -0.21
— v 3=0.30%0.30X0. 15 X1 (PB-B300xH300) = -0.01
—v4=0.30x0.20X0.15 X1 (BE%KK) = -0.01
27 J—h
SV = 0.41m3 V=0.41 m3
T e
al1=0.80X1.00X2 X1 = 1.6
a2=0.80X1.00X2 X1 = 1.6
a3=0.50x1.00X2 X1 = 1.0
a4=0.50x1.00X2 X1 = 1.0
— a5=0.30x0.30X2 X1(PB-B300XH300) =-0.2
—ab5=0.30x0.20x2 X1 (BEFR/KK) =-0.1
T e
SA =49 m2 A=4.9 m2
< PTV=F7)7 Z1-25 (500 X 500 ) I V=Fr)T #ET-25
n=1#% n=14¢
- ZEfEAL (RC-40, t=15cm) SLHERS
A=0.90X0.90 X1 = 0.8 m2 A=0. 8 m2
< FREEIE FLi e
A=0.90X0.90 X1 = 0.8 m2 A=0. 8 m2




HEYRET BER

1040 (1-1)

4 i i S | i i G2
s s L 1 = 1
EHAE ARG W m 24 23. 82
T AT 7 )L Ak
SAE AR S t=5cm m2 151 150. 8
T AT 7 )L Nk
SAE RS t=10cm m2 53 52.7
AL C o
V) -HERER S =131, W=300,H=1700 m3 1.4 1.38
AL C o
20 - M RER = ELTE I, W=300,H=850 m3 7.7 7.65
PERFEE L T =X 1
BF300# 75 m3 0.2 0.18
VU ¢ 10052 m3 0. 00 0. 002
MR R m3 0. 02 0. 022
A RE m3 2.7 2.71
TE WA B it RS T = 1
R - B & T 2 2
A V% 57 L i
=N A7) s m 3.0 3.00




iEwRET KEIHESE 172340 2-1
v R g A B 7| & i1
G EUE L T
L= 17.82+3.95+2. 05 = 23.82 m 23.8
| | 2. 05m
' <
é 2 S < Il s §
&5 £ & = - .
e SRk
——
Co
CLEESIGIES
BRREH AR E LY
A= 137.8 = 137.8
~P12. 50-0. 29, P45. 00{ T Nt
A=1.14+11.85 = 13.0
SA = 150. 8| m2 150. 8
ESPIER=K
t=10cm
A=52. 68 52. 68| m2 52.7
1)) - MERE R 2
MR C o
[E]5E {71, W=300, H=1700
V=0.510m2 X 2. 7 = 1.377| m3 1.38
MR C o
HT3E {11, W=300, H=850
V= 0. 255m2 X 30. 0 = 7.650 m3 7.65




MEYRET HBEHEE 140 2-2
% Ziin i 1 VA~ &
PSSR T
BF300f#1 2=
V= 0. 030m2 X (3. 0+3. 0) = 0.180| m3 0. 18
VU ¢ 1004812
V= 0. 002m2 X 1.0 = 0.002[ m3 0. 00
Rl L e
V= 0. 022m3 X 1 = 0.022 m3 0. 02
[ZaE 1 ES
V= 0. 288m2 X 9. 4 = 2. 707 m3 2.71
E BT R MR T
HLRHE - Bk
=9 = 2| & 2
B 7 5 LA
0=~ 47") ik
L=3.00 = 3.00] m 3.0




HEs g L T LSS R EE PAGE1-1
oA | B I TR i W om
P12.50-0. 29 0. 00 3.1 ! -—-— 1
P12. 50 0.29 3.1 3. 10 0.9
P12. 50+0. 86 0. 86 3.1 3. 10 2.7
P12. 50+0. 86 0.00 4.0 3. 55 0.0
P20. 00 6. 64 4.0 4. 00 26.6
P30. 00 10. 00 4.0 4. 00 40. 0
P40. 00 10. 00 4.0 4. 00 40. 0
P45. 00 5.00 3.9 3.95 19.8
P45. 00+2. 00 2.00 3.9 3.90 7.8
& 2 137.8 m2
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